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I. Multiple choice (40%)
1. A monetary policy which is likely to bring about a “soft landing” requires that
interest rates be _ while inflation is _ __and unemployment is

e the natural rate level.
a. raised, l‘ising; above

b. raised, falling, below

c¢. lowered, falling, above

d. lowered, rising, below

2. The “Fisher effect” occurs when a one-percentage-point rise in expected inflation

interest rate by one percentage point.

a. raises the nominal
b. lowers the expected real
¢. raises the real

d. lowers the expected nominal

3. Taxes and government expenditure that, without need for additional government
action, change in response to changes in the level of economic activity are called
a. cyclical balanced budgets.
b. discretionary f{iscal variables.
c. built-in monetary stabilizers.

d. automatic stabilizers.

4. With a temporary income tax surcharge, according to the _ , household
consumption should _ _
a.  LCH; stay the same since lifecycles have not changed.
b. LCH; rise even though disposable income falls.
PIH; fall since disposable income falls.

d. LCH; fall since lifecycles have not changed.

5. The “tune inconsistency” argument is that a downward shift of the short-run

Phillips curve, which comes abouf witha __of inflationary

expectations, is more likely when monelacy policy =~
a. Jowering, follows a rigid rule

b. lowering, is at the discretion of policymakers

c. raising, follows a rigid rule

d. raising, is at the discretion of policymakers
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IV.  (20%) Solow growth model
(1) LA Solow growth model ZRUH—({I8 A MR R SIS, A ST {5
5, ML IR NRRE. (IRE —BIOME 4 AR
Y=AF(K,L). K, L & CREAMGBN), ABIRRERES, FEK LB
constant returns to scale, AITIRIEHR n, HEEK s
(2) Solow model TN R S DU T4 K HE R S L, SRR IO 172
BT FTEKHE, FHRAM.




